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<h2 id="@ k"> @B k< /h2>
<p></p><div class="vditor-linkcard vditor-tooltipped vditor-tooltipped n" aria-label="https
//leetcode.com/problems/roman-to-integer/" >
<a href="https://Id246.com/forward?goto=https%3A%2F%2Fleetcode.com%2Fproblems%
Froman-to-integer%2F" class="link-card fn__ flex" target="_blank" >
<span class="vditor-linkcard__info">
<span class="vditor-linkcard _title">
<img height="20px" src="https://leetcode.com/apple-touch-icon-57x57.png" >
Loading...
</span>
<span class="vditor-linkcard _abstract">Level up your coding skills and quickly land a
ob. This is the best place to expand your knowledge and get prepared for your next interview
</span>
<span class="vditor-linkcard _site">
leetcode.com
</span>
</span>
<span class="vditor-linkcard _image" data-src="https://leetcode.com/static/images/Lee
Code_Sharing.png"></span>
</a>
</div><p></p>
<h2 id="FEBAFEX">MERX </h2>
<blockquote>
<p>Given a roman numeral, convert it to an integer.<br>
Input is guaranteed to be within the range from 1 to 3999.</p>
</blockquote>
<h2 id="ZEB&#F">AEHEF </h2>
<p>BE—NTIHZF, BHIEEMEH., WMARSIE 183999 Z[E, </p>
<h2 id="Rg75;%"> B85k </h2>
<p>BENFE—LTREFEH., WLE, HENFEZDHFNCER, FLET—TEH, XEthE
NE—TIE, </p>
<p>DEHFRATNTDFEEHF: <br>
[ (1) . X (10) . C (100) . M (1000) . V (5) . L (50) . D (500) . </p>
<p>1c#RIsSiL: <br>
1. ERREFES, FRnRIESETIXE=ENERIR0%L, a0 1li=3; <br>
2. INAUEEFTERRIEFRIAIL, ATERmAYESE TIX RIS RIA0%L, 0 VIN=8, XIlI=12; <br>
3.9/J\EI’\J§$Z§—Z (PRTF . X#0 C) FERRIEFAAIN, AR AEETAREREUSRIRIEL, W IvV=4. |
=Y, <br>
4 E— B EEE—FEL, JRXPEUEE 1,000 &, </p>
<p>EREHFCEEM: </p>
<table>
<thead>
<tr>
<th align="center">Roman</th>
<th align="center">Integer</th>
<th></th>
<th align="center">Roman</th>
<th align="center">Integer</th>
</tr>
</thead>
<tbody>
<tr>
<td align="center">|</td>
<td align="center">1</td>
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<td></td>

<td align="center">XXIX</td>
<td align="center">29</td>
</tr>

<tr>

<td align="center">ll</td>
<td align="center">2</td>
<td></td>

<td align="center">XXX</td>
<td align="center">30</td>
</tr>

<tr>

<td align="center">lll</td>
<td align="center">3</td>
<td></td>

<td align="center">XL</td>
<td align="center">40</td>
</tr>

<tr>

<td align="center">1V</td>
<td align="center">4</td>
<td></td>

<td align="center">L</td>
<td align="center">50</td>
</tr>

<tr>

<td align="center">V</td>
<td align="center">5</td>
<td></td>

<td align="center">LX</td>
<td align="center">60</td>
</tr>

<tr>

<td align="center">VI</td>
<td align="center">6</td>
<td></td>

<td align="center">LXX</td>
<td align="center">70</td>
</tr>

<tr>

<td align="center">VIl</td>
<td align="center">7</td>
<td></td>

<td align="center">LXXX</td>
<td align="center">80</td>
</tr>

<tr>

<td align="center">VIll</td>
<td align="center">8</td>
<td></td>

<td align="center">XC</td>
<td align="center">90</td>
</tr>

<tr>
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<td align="center">|X</td>
<td align="center">9</td>
<td></td>

<td align="center">XCIX</td>
<td align="center">99</td>
</tr>

<tr>

<td align="center">X</td>
<td align="center">10</td>
<td></td>

<td align="center">C</td>
<td align="center">100</td>
</tr>

<tr>

<td align="center">Xl</td>
<td align="center">11</td>
<td></td>

<td align="center">Cl</td>
<td align="center">101</td>
</tr>

<tr>

<td align="center">Xll</td>
<td align="center">12</td>
<td></td>

<td align="center">CXCIX</td>

<td align="center">199</td>
</tr>

<tr>

<td align="center">XIlll</td>
<td align="center">13</td>
<td></td>

<td align="center">CC</td>
<td align="center">200</td>
</tr>

<tr>

<td align="center">XIV</td>
<td align="center">14</td>
<td></td>

<td align="center">CCC</td>
<td align="center">300</td>
</tr>

<tr>

<td align="center">XV</td>
<td align="center">15</td>
<td></td>

<td align="center">CD</td>
<td align="center">400</td>
</tr>

<tr>

<td align="center">XVI</td>
<td align="center">16</td>
<td></td>

<td align="center">D</td>
<td align="center">500</td>
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</tr>

<tr>

<td align="center">XVII</td>
<td align="center">17</td>
<td></td>

<td align="center">DCLXVI</td>
<td align="center">666</td>
</tr>

<tr>

<td align="center">XVIll</td>
<td align="center">18</td>
<td></td>

<td align="center">M</td>
<td align="center">1,000</td >
</tr>

<tr>

<td align="center">XIX</td>
<td align="center">19</td>
<td></td>

<td align="center">MCMXCIX</td>
<td align="center">1,999</td>
</tr>

<tr>

<td align="center">XX</td>
<td align="center">20</td>
<td></td>

<td align="center">MM</td>
<td align="center">2,000</td >
</tr>

<tr>

<td align="center">XXl</td>
<td align="center">21</td>
<td></td>

<td align="center">MMM</td>
<td align="center">3,000</td >
</tr>

<tr>

<td align="center">XXll</td>
<td align="center">22</td>
<td></td>

<td align="center">MMMM</td >
<td align="center">4,000</td>
</tr>

<tr>

<td align="center">XXVIll</td>
<td align="center">28</td>
<td></td>

<td align="center">MMMMCMXCIX</td>
<td align="center">4,999</td>
</tr>

</tbody>

</table>

<h3 id="E#&—"> <strong>Ei&—</strong> </h3>

<p>1RiE EERAHETENRI=R. WTFRANSDHFFRAEH,

MNEHERIE, BRRIEEAT
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TRENSEASRIE R, B8N, BERESNTEENERAEIIR, B, </p>
<p><em>fB</em></p>

<pre><code class="highlight-chroma"> <span class="highlight-line"> <span class="highlight
cl">class Solution {

</span></span><span class="highlight-line"> <span class="highlight-cl"> public int roma
Tolnt(String s) {

</span></span><span class="highlight-line"> <span class="highlight-cl"
ter,Integer&gt; map = new HashMap&aIt;&gt;();

</span></span><span class="highlight-line"> <span class="highlight-cl"> map.put('l',1);
</span></span><span class="highlight-line"> <span class="highlight-cl"> map.put('X',1
);

</span> </span><span class="highlight-line"> <span class="highlight-cl"> map.put('C',1
0);

</span></span><span class="highlight-line"> <span class="highlight-cl"> map.put('M’,
000);

</span></span><span class="highlight-line"> <span class="highlight-cl"> map.put('V',5)

\%

Map&lt;Chara

</span></span><span class="highlight-line"><span class="highlight-cl|"> map.put('L',5
);

</span></span><span class="highlight-line"> <span class="highlight-cl"> map.put('D’,
00);

</span></span><span class="highlight-line"> <span class="highlight-cl"> int sum = 0;
</span></span><span class="highlight-line"> <span class="highlight-cl"> int max = 1;
</span> </span><span class="highlight-line"> <span class="highlight-cl"> for (inti=s.t
CharArray().length - 1; i &gt;= 0; i--) {

</span></span><span class="highlight-line"> <span class="highlight-cl"> charc =s.
oCharArray()[i];

</span></span><span class="highlight-line"> <span class="highlight-cl"> if (map.get
¢) &gt;= max){

</span> </span><span class="highlight-line"> <span class="highlight-cl"> max =
ap.get(c);

</span></span><span class="highlight-line"> <span class="highlight-cl"> sum +=
map.get(c);

</span></span><span class="highlight-line"> <span class="highlight-cl"> }
</span></span><span class="highlight-line"> <span class="highlight-cl|"> else{
</span></span><span class="highlight-line"><span class="highlight-cl"> sum -=
map.get(c);

</span></span><span class="highlight-line"> <span class="highlight-cl"> }
</span></span><span class="highlight-line"> <span class="highlight-cl"> }
</span></span><span class="highlight-line"> <span class="highlight-cl"> return sum;
</span></span><span class="highlight-line"> <span class="highlight-cl"> }

</span></span><span class="highlight-line"> <span class="highlight-cl">}
</span></span></code></pre>
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